
https://www.certbus.com/c2010-597.html
2024 Latest certbus C2010-597 PDF and VCE dumps Download

 

 

 

C2010-597Q&As

IBM TRIRIGA Application Platform V3.2.1 Application Development

Pass IBM C2010-597 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.certbus.com/c2010-597.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

Latest C2010-597 Dumps | C2010-597 Study Guide | C2010-597 Braindumps                                1 / 6

https://www.certbus.com/c2010-597.html
https://www.certbus.com/c2010-597.html
https://www.certbus.com/c2010-597.html


https://www.certbus.com/c2010-597.html
2024 Latest certbus C2010-597 PDF and VCE dumps Download

QUESTION 1

Which type of workflow can be called from an onClick event? 

A. Subflow workflow 

B. System workflow 

C. Synchronous workflow 

D. Asynchronous workflow 

Correct Answer: C 

 

QUESTION 2

Which workflow type gets executed by an association of two objects? 

A. synchronous workflow using temporary data 

B. synchronous workflow using permanent data 

C. asynchronous workflow using temporary data 

D. asynchronous workflow using permanent data 

Correct Answer: D 

 

QUESTION 3

Which statement is true when choosing between using a smart section or locator field? 

A. A locator field allows live link; a smart section does not. 

B. A locator field can be overloaded with alternate data types; a smart section cannot. 

C. A smart section only creates an association; a locator field creates an association and a reference. 

D. A smart section can be mapped directly with data integrator using the keyword Associate; a locator field cannot. 

Correct Answer: B 

 

QUESTION 4

What is the required action to trigger an onChange event? 

A. A state transition action is clicked. 

B. The field value is changed by a workflow. 
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C. A field value is changed by a Data Integrator. 

D. The user removing the focus from a field after changing its value 

Correct Answer: D 

 

QUESTION 5

When creating or modifying a form, which item can be added directly to a tab? 

A. a tab 

B. afield 

C. a form 

D. a section 

Correct Answer: D 

 

QUESTION 6

If a list value is entered incorrectly, what step is required to change it in the List Manager? 

A. Update the list using a workflow 

B. Open the entry, change the value, and save it 

C. Delete the incorrect entry and add a correct entry 

D. Click Revise, make the necessary changes, then click Publish 

Correct Answer: C 

 

QUESTION 7

When a business object (BO) is published, how can one tell that the publish process has been completed? 

A. A pop-up message appears to confirm the BO publication. 

B. The revised property is not grayed out in the Data Modeler. 

C. All forms for this BO are automatically published with this BO. 

D. A notification has been sent to the user that triggered the publish process. 

Correct Answer: D 

 

QUESTION 8
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A Notification Helper Object needs to be associated to the people records to notify using which association string? 

A. Notify 

B. Route To 

C. Deliver To 

D. Notification For 

Correct Answer: A 

 

QUESTION 9

A new classification has been defined and the developer is ready to create the new classification\\'s local root. From the
Hierarchy pane the focus is placed on the Classification root node and the option New is selected. The new
classification does not show up as an option in the Hierarchy pane drop-down as a valid child that can be added to the
root. 

What could be wrong? 

A. The new classification\\'s form has not been added to the Includes/Forms tab of the new classification\\'s form. 

B. The new classification\\'s form has not been added to the Includes/Forms tab of the root classification form. 

C. The new classification\\'s form has not been added to the Includes/Forms tab of the classification business object
(BO). 

D. The new classification\\'s form has not been added to the Includes/Forms tab of the new classifications BO. 

Correct Answer: B 

 

QUESTION 10

Which workflow type can be called from a custom section action? 

A. Subflow workflow 

B. Synchronous workflow 

C. Asynchronous workflow 

D. Scheduled event workflow 

Correct Answer: B 

 

QUESTION 11

Where is a user\\'s new login portal set? 

A. User\\'s profile 
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B. User\\'s preferences 

C. User\\'s security group 

D. User\\'s organization profile 

Correct Answer: A 

 

QUESTION 12

Which statement is true about a switch task? 

A. The square is always the true side and always on the left. 

B. The square is always the false side and always on the left. 

C. The square is always the true side and can be on either the left or right. 

D. The square is always the false side and can be on either the left or right. 

Correct Answer: D 

 

QUESTION 13

Which tool can change the name of a form? 

A. Form Builder 

B. Data Modeler 

C. Reports Manager 

D. Association Manager 

Correct Answer: A 

 

QUESTION 14

Which workflow tasks can remove an association, not just replace it? 

A. Modify Records 

B. Delete Reference 

C. Associate Records 

D. Modify Metadata Records 

Correct Answer: C 
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QUESTION 15

A customer requests a package of all their People data. How can this request be met? 

A. Create a Full Package of the people data, export it, and send it to the client 

B. Create a By Date package of the people data, export it to the server, and send to the client 

C. Inform the customer that data packages are too large to be created and therefore it cannot be done 

D. Inform the customer that data packages are problematic because record level associations are not maintained 

Correct Answer: D 
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